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Lesson 3 — Graphing Linear Equations using Slope-
Intercept Form

S=mx+b Part 2

= <+
Example 1: Y - W\X+b M= 2 — /5
Determine the equation of each line given the graph x > s
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Example 2:

Consider the equation y = 2x + b. What is each value of b if'a graph of the line passcs&rough cach
point? Solve graphic illy and algebraically.
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Example 3:

Consider the equation y = mx — 3. What is each value of m 1fd graph of the line passesgethrough

each point? Solve graphically and algebraically. _
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Example 4:
Considering the following points, write the equation of a line, in slope-intercept form, lhalJJasscs
through both points. 5
a) (-2,5)(-5,-3) b)\-1,2 (‘5 4)
M= YL‘Y\ = /-i\‘ - ,/
X- ; - l" .
P 5’( 3) = — W= Z AN
-24}'5 —¢
M T — = —| J
N=3x+5 (9 - )
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y +b _—Ix +5 (N Qs
5=82 S0 _ LD (A) +b
3 (5 + It >= b = }
5 = —(6 +b =3 3 2. = _ 5 +
) | L ol y y=-Xt |
'5 1o h =306 1073 \ = 8/)(‘\"03
Ex?m]g]e 5. 9 3 >
Asha has selected a hotel for her wedding reception. The cost involves a fee for the deluxe
ballroom and a by harge that depends on the number of guests. This is shown in the table.
: b~ a) What are the slope and y-intercept of the line? What does _b
each parameter represent? \/= x +
- = lggo-92% _ Bz s V=B
-y 2t 55 cos¥/guest
t aphof the datd'in the table. -
i&f}ke ! latin the table b= Y35 4 cosb & rent h\\'«;:“
— b) Write an equation that describes the relationship S%%err
%400 the cost and the number of guests. Express the equMion in
-5
u slope-intercept form. cC= 59n + CL’}S
v —
“ P 4
F v \ rateof
0 ¢) What is the cost of 140 guests? clhenyt
\V w = 1{O
p C ———55' l'lO +yaT TN (us'\' (’I;’
100 C “77 60 Fu2t o guests 1
n sl 25 & 3125-60
p d) Asha \wuld like the total cost to be no more than $15 000.
) "L( (0 > e 1Tt What is the maximum number of guests that can attend?
Gruasts L = |45 600
5oco 2 550 U2
—L( < —\av
Assignment: Equation of a Line Worksheet; Pg. lq“ 2 55
Quiz on The Equation of a Line on . '?5- 55 -ro CoY =~
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ov s guests.
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